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9. What measures of association can be estimated meaningfully from a well-
conducted closed longitudinal cohort study? 1. risk ratio; 2. incidence rate
ratio; 3. odds ratio. Please explain briefly (Note: there might be more than
one answer) (3%). What about an open cohort study (3%)? Nested case-
control study (3%)? In a closed cohort study, which measure of association
do you prefer and why? (5%)

10. An environmental epidemiologist wants to study whether a new form of
pollution would increase the risk of death. The following table is the
proportion of death in different subgroups of the study population. (for
example: 180/900 indicates that 180 deaths occur among the total 900 people
who are poor and exposed to the pollution)

Poor 180/900 20/100
Rich 10/100 90/900
Total 190/1000 ‘ 110/1000

Please calculate the risk ratio (RR) of death comparing “pollution” to “no
pollution”. Calculate the RR in the poor people, rich people, and in the total
population (3%). What do you conclude and why? (5 %) Is there effect
measure modification at the multiplicative (RR) scale? (3 %)
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